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Question Number : 1 Question Id : 7155054042 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

LetA=141.3.4,6,9} and B={2.4, 5, 8. 10}. Let R be a relation defined on A =
B such that R = {((a;. by). (a5, b;)) : a; £ b, and by < a, }. Then the number ot

clements in the set B 15

Options:
71550512801. 26
71550512802. 5.2

71550512803. 160

71550512804. 180

Question Number : 1 Question Id : 7155054042 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatorv : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AHTA={1,3,4,6,9} TUB={2.4.5.8. 10} S AHAAx B TP
TGEY R = {((a;. by). (a5. by)) 1 a; <b, AUTby <a, } B AR T 3aUadl DI G=AT 5

Options:

71550512801. 26

71550512802. 52

71550512803. 160

71550512804. 180

Question Number : 2 Question Id : 7155054043 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i ]
The domain of the function / 1¥)= [~

[ ]_ 3[x]-10 1s (where [x] denotes the greatest
ﬂu| A1 —HMX|— 1L

integer less than or equal to x)

Options:

—@:',—Z)U[ﬁ.,m)

71550512805. (

71550512806. (—o». _3] U ['5= ©)
71550512807. (—oo, _2] U[S, 0)

71550512808, (% '3] U(S,)
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Question Number : 2 Question Id : 7155054043 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

N ]
o /() == _.
VIl =3[x]-10

oEl [x] HevH JU[® <x 8. I Wid &
Options:

—0,-2)U[6,%)

71550512805. {

71550512806, L~ _3] U [E“ ©)
11550512807, (—% —-2)U(5,)

2 E5E 19808, L= '3]U (5,0)

Question Number : 3 Question Id : 7155054044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For ge(C, let A = <: zell: Re{u + E} > Im [E k:]E and

B= { zeC:Re(a+Z)<Im(a+ :]} Then among the two statements:

(51) : If Re (a). Im (a) = 0. then the set A contains all the real numbers

(52) : It Re (a). Im (a) < 0. then the set B contains all the real numbers,

Options:

71550512809. both are true

71550512810. both are false

1 fei4 % ° p
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71550512812, only (S2) 1s true

Question Number : 3 Question Id : 7155054044 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aclC .j'faqfwﬂ ={ 7=l .H‘.E{_a + ?j > lm[ﬁ i :)} ddl

B= { zeC:Re(a+7)<Im (E+zr)} %"I d

g

HYA]:

(1) : TS Re (@), Im (o) > 0 8. 4l Yl didd G@MU AT ©

(52) : T Re (), Im (a) < 0 &, T T arcfas S B &8

g7H ¥

Options:

71550512809, &I 9 &

71550512810, &I ST ©

71550512811, Paq (S1) T &

71550512812, P9 (S2) T e

Question Number : 4 Question Id : 7155054045 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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If the system of linear equations

1x 11}-"‘1*‘{1‘23&3
5x+4_]"|"?:=_=’6
1 75x+ 194y +57z= 361

has infinitely many solutions, then o + p + 2 15 equal to:

Options :

71550512813. 3

71550512814. 4

71550512815. 5

71550512816. 6

Question Number : 4 Question Id : 7155054045 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

afe Ya® gHiexu fAe™

7.1"‘1 11?-{-&:: l3
SI +4) -+ ?:-: ﬁ
175x+ 194*1'1- +577=361

H IAded . dla+p+2 NE &
Options:
71550512813, 3

71550512814. 4

71550512815, 5
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71550512816. 6

Question Number : 5 Question Id : 7155054046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X+l x X
| 9 | A .
It x x+A4 1= g{ [03x + 8 ]):. then A, 3 are the roots of the equation
X X  x+A°
Options:

.
71550512817. 4x° +24x-27=0

) .
71550512818. 4x~ —24x—-27 =0

g
71550512819. 4x~ + 24x+ 27 =0

g, =
71550512820. 4x“ —=24x+27=10

Question Number : 5 Question Id : 7155054046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

x+1 x X
( - ¥ = .
gic | x  x+4 X =i(]{}}xﬂ'}l):E;'_.Eﬁ/Li Bz ﬂHr]d?{UTa?ﬂﬁ%?
g8 3
X X x+A"
Options:

& |
71550512817. 4x“ +24x—-27 =0
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71550512818. 4x° —24x—-27 =0
715505128109. 4x* +24x+27=0

.
71550512820. 4x" —24x+ 27 =10

Question Number : 6 Question Id : 7155054047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the letters of the word MATHS are permuted and all possible words so formed
are arranged as in a dictionary with serial numbers, then the serial number of the
word THAMS 1s

Options :

71550512821. 101
71550512822, 102
71550512823, 103

71550512824, 104

Question Number : 6 Question Id : 7155054047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl MATHS s & H&Rl & »Hayl 4 a4 9ul Irsaf chh,m eGP DI e
o H T & 1Y Iaied fobar Sirar 8, a1 Ueg THAMS & hH G-I 6 -
&collegeduniaﬁ

Options:




71550512821. 101
71550512822. 102
71550512823. 103

71550512824, 104

Question Number : 7 Question Id : 7155054048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2022

_ ' . ; ; : (d4x 5 :
If the 1011 term from the end in the binominal expansion of | o ) 15
L J 2X,

1024 times 1011 term from the beginming, then M 15 equal to
Options:

71550512825. &
71550512826. 10
71550512827. 12

71550512828. 15

Question Number : 7 Question Id : 7155054048 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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tTIEE.
-"'. .:'.I.-{EI=E

alg \fﬂ_i & fgue TR T eid @ 10119 Ue, HRY ¥ 10119 98 &1 1024

d 2xy

T, | TR B -

Options:

71550512825. &8
71550512826. 10
71550512827. 12

71550512828. 15

Question Number : 8 Question Id : 7155054049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of the coethicients of three consecutive terms in the binomial expansion
T , , :
of (1 + x)" ™ <, which are in the ratio 1:3:5, is equal ta

Options:

71550512829. 25
71550512830. 41
71550512831. 63

71550512832, 9.2

Question Number : 8 Question Id : 7155054049 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

(1+x)22 & fguq WIR H di- HHNTd 9al & UMDl Sl 1:3:5 P 3Uid § &,
1 G GRIER © -

Options:

71550512829, 25

71550512830. 41

71550512831. 63

71550512832, 9.2

Question Number : 9 Question Id : 7155054050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let a, b, ¢ and d be positive real numbers such thata + b+ ¢ +~d=11. If the
maximum value of a°b ¢c=d is 3750p, then the value of B is

Options:

L

71550512833. 3
71550512834, YU
71550512835, 108

71550512836. 110

Question Number : 9 Question Id : 7155054050 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

OFTa. b, c dU d YIS gRddE G e dila+b+c+d=11 G
Tfd a*b3c2d BT I=TH HH 3750p 8. A PRI AH T -

Options:

3

LAy

71550512833.

71550512834, 90

71550512835, 108

71550512836. 110

Question Number : 10 Question Id : 7155054051 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let fand g be two functions defined by

. ) (x+1. x<0 g ox) ;,JI.' +1, x<
X|=+« a1 gix) =

o !_i]i-:"f— I‘ , X2 0 B L L. x20
Then (gof) (x) 1s

Options:

71550512837 ditterentiable everywhere

71550512838. not continuous atx =—1

71550512839 continuous everywhere but not differentiable at x =1

71550512840 continuous everywhere but not differentiable exactly at one pont
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Question Number : 10 Question Id : 7155054051 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O & e faul g,

_ -- .ji*-l-l . ,'E{':ﬂ ﬁt" .= j rl"l‘]__,‘ Y < {j]
It X1 =+, d ofx) = +
f ( 1} Jlll—' || - 0 2L, L 1. x>0
GRIIRYIYT B (gof) (x)
Options:

71550512837, R U SfAha-19 8

71550512838, ¥ = — 1 OX Hdd T8l &

21550512839, R TR T 8 U] x = 1 W {aHe-1d Te &

21550519840 R TR Tdld 8 U] U U fdg R 3adha-id 78l §

Question Number : 11 Question Id : 7155054052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let the function f: [0,2] — R be defined as

r.g_: tnin{xz, X — [‘{]} . Xe [{}1- ”

-f M=y [r-log
{ } E'[ log,. ]ﬁ .I‘E[LE]

where |{] denotes the greatest integer less than or equal to t. Then the value of the
"}

inteeral I 1f(f) il 15
()
Options:

a
&collegedumaa
India’s largest Student Review Platform

S



71550512842, 2e — 1

I

le——
71550512843. 2

_”

7155051 2844 \

5 11
E-.F —
2

Question Number : 11 Question Id : 7155054052 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S P SR g |
mm{l W e [.'.t ]i . XE€ [{L ”

=
e [.\'—]-ug s 1.']

HATf:[0.2] = R, £(x) )
. il b= [L E]

GR1uRIfE &, 56f [] &1 Hewm e < 31 HHlmddjlf
s

Options:

71550512841. 2

71550512842, 2e —1

71550512843, 2

71550512844.

dx BT HA

~
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(.f.-*-l]l[e-'2 ~

\

2 |
o -

Question Number : 12 Question Id : 7155054053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It f: R — K be a continuous tunction satistying
x

fE'

-

=3 4 |
j'f[:sin 2x)sinxdx+ea| f(cos2x)cosxdx=0- then the value of o is
0 :

Options:

71550512845, —V 2
71550512846, V2
71550512847. —V3

71550512848, V3

Question Number : 12 Question Id : 7155054053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afd £: R — R U% Idd Bad o ayl

2 4
_.'f[sin 2x) sin x dx + HI f(cos2x)cosxdx =0 €. dla ®PIAF B
0 ()

Options:

71550512845, — 2
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A

71550512846, v 2
71550512847, —V3

71550512848, 3

Question Number : 13 Question Id : 7155054054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let y = v (x) be the solution of the differential equation

5\
: x4+
fi}__ " % y = g__}=. v >0 - Ity(l)=2, then (2) 15 equal to

'HT

dx I[.Ti-i-l).] x'

Options:

637
71550512849, 128

679
71550512850. 128

693
71550512851, 128

697
71550512852, 128

Question Number : 13 Question Id : 7155054054 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a
&collegedumaa
India’s largest Student Review Platform

S




Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B

AT Sfape Gl & O M s 0 PIBAy=y(x) ol
dx  x [.t‘f’ + l)' X’
afe 3(1)=2 %, T y(2) W T
Options:
637

71550512849, 128

679
71550512850. 128

693
71550512851, 128

697
71550512852, 128

Question Number : 14 Question Id : 7155054055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[f the radius of the largest circle with centre (2.0) mscribed in the ellipse
y=+4y* = 36 is 1, then 12r° is equal to

Options:
71550512853. 69

71550512854, 7.2

71550512855, 9.2
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71550512856. 113

Question Number : 14 Question Id : 7155054055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i dead x2+4y2 = 36 B 3dId, D% (2.0) b YS9 S g Bl H1 8,
12r° SRIER § -

Options:

71550512853, 69

71550512854, 72

71550512855, 9.2

71550512856, 115

Question Number : 15 Question Id : 7155054056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let P be the plane passing through the points (5.3.0), (13.3, —2) and (1,6.2).
For o € N, if the distances of the points A (3, 4, o) and B (2, ¢, a) from the plane P
are 2 and 3 respectively, then the positive value of a is

Options:
71550512857. 3

71550512858, 4

71550512859. 5
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71550512860. 6

Question Number : 15 Question Id : 7155054056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

= FHAq P, fdgadl (5.3.0), (13.3. -2) QU (1.6.2) Y BIPR WA 8l o € N & foTU
i feigafl A (3. 4, o) TUTB (2. o, a) DI GHAA P GRTI PH: 2 U138, Tl a
B YD HH 6 -

Options:

LS

71550512857.

71550512858. 4

71550512859. >

71550512860. 6

Question Number : 16 Question Id : 7155054057 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the line passing through the points P (2. —1, 2) and Q (5. 3. 4) meet the plane

x —y +z =4 at the pomt R. Then the distance of the pomnt R trom the

o, il 7 | | . X=7 y+3 z-2.
plane x + 2y + 3z + 2 = 0 measured parallel to the line Bilnar T 1 is

—

equal to
Options :

71550512861. 3

71550512862, V 3 |
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71550512863, V O

71550512864, V189

Question Number : 16 Question Id : 7155054057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT fEg3 P (2, -1, 2) TUTQ (5, 3, 4) W BIHR OfIH aTdll @I, YAAT x —y + 2 =4
P! féig R R Al g1 Al féig R &1 98dW x + 2v + 3z +2 = 0 &, 3

Y — )44 o' ) .

Ty I i pamicr A, 81 R -

2 2z 1

Options:

71550512861. 3

71550512862, V 3 |

71550512863, VO |

71550512864, v/ 189

Question Number : 17 Question Id : 7155054058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

It tour distinct points with position vectors g h _¢ and 7 are coplanar, then

| r—

a b ¢ |1s equal to

a
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dba +[
/7/1550512865. L _

déa +[
/71550512866. L B

71550512867. [

71550512868. L

a&z&l[&aa

Question Number : 17 Question Id : 7155054058 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt =R fora g, o R AT 4, ¢ 7o €. Weadha €. [a b ¢

A © -
Options:

71550512865. L

71550512866. L

71550512867. [

71550512868. L

iy
|
=l
-+
—

ad b:-l-l:

|

e
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the mean ot 6 observations 1, 2, 4. 5. x and y be 5 and their variance be 10.
Then their mean deviation about the mean is equal to

Options:
7
71550512869. 3

&
71550512870. 3

71550512871. 3

10
71550512872. 3

Question Number : 18 Question Id : 7155054059 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0T 6 W& 1, 2, 4, 5, x OUTy BT HIH 5 5 aUl 3951 WHR0T 10 © | I 351 HIA
& e 714 fage- &

Options:

7
71550512869. 3

&
71550512870. 3

71550512871. 3
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1O
71550512872, 3

Question Number : 19 Question Id : 7155054060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The angle of elevation of the top P of a tower from the feet of one person standing
due South of the tower 1s 45° and from the teet ot another person standing due
west of the tower 1s 30°. If the height of the tower 15 5 meters, then the distance (in
meters) between the two persons 1s equal to

Options :

71550512873. 5

71550512874.5N£§

.q
555

71550512875. 2

71550512876. 10

Question Number : 19 Question Id : 7155054060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U odfad, ol Ud UK & GI&0 ®f 3R @3l 5. & U 9 HIFR & RGP &I
390 B 45° 8 qUT TP 3] Afad. ol TR B UEE Pl IR ESIg. F IR Y
P &1 39U BT 30° 6 | Al HAR @1 HaI5 5 Hied §, d 34 ol fdadl & did
&1 g3 (AR H) © -

Options:

71550512873. 5
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71550512374.5xﬂ§

q
X

71550512875. 2

71550512876. 10

Question Number : 20 Question Id : 7155054061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The converse of ((~p) AqQ)=ris

Options:

71550512877. (P V(~q) = (~ 1)
71550512878, ((~=p)V q)=Tr
71550512879, (~1) = p Aq

71550512880, (=~ 1) = {(~p) A @)

Question Number : 20 Question Id : 7155054061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(~p)Ag=1rPI [ddiy % -

Options:

71550512877. PV (~q) = (~1)
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71550512878, ((~=p)Vq)=r

71550512879, (~1)=pAqg

71550512880. (~1) = ((~p) A q)

Section Id :

Section Number:

Section type:

Mathematics Section B

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

715505248
2

Online
Mandatory
10

5

20

Yes

0

1
715505248
Yes

null

Question Number : 21 Question Id : 7155054062 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i

Let S=14

1,

zeC—{i, 2i}

¥ u
242a” 15 equal to

| z* +Riz —15

j: 9 ,
z°—3iz-2

e R

s It o

13

—ieS,. o€ R— {0}, then

a
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 7155054062 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 5L cR}T1TE I3fES~ 0 € R—10;

2 .
z° =3iz -2 | |

HIAl S = {:E'fﬂ—{f, 2i}

8. 1 24202 WER B

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155054063 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

LetA=11.2.3.4.5Vand B={1. 2. 3. 4. 5. 6}, Then the number of functions f : A— B satisfving
1_ ; E j VIIg

f(L)=f(2)=f(4)-1 15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155054063 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATA={1,2,3,4, 5} TIB={1.2.3,4,5.6} TI T f(1) + () =/ (4) -1 DI
Iy & did BaHl £: A— B DI GEAT®

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155054064 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- “ _ 4 8 13 19 _
For k € N, if the sum of the series |+ I- + F + F + F + ... 18 10, then the value

of ks

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 23 Question Id : 7155054064 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. 4 8 13 1¢ " ) .
k € N & o4, gic 4ol I+I+%+F+l_3+'” HIANT108. Ak PIAM S

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054065 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2x

‘ . ; ; _ f .
The number of points, where the curve £(x) = > — % — 3™ — %
X-axis, 18 equal to

+ 1, x € R cuts

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054065 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s |

3 fag3ff, TT8T aeh f(x) = 3 — ™ — 3e¥ — &2 + 1, x € R, x-H& | Pl &,

H O e
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054066 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A is the area in the first quadrant enclosed by the curve C: 2x* —y + 1 =0, the
tangent to C at the point (1. 3) and the line x + y = 1. then the value of 60A 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054066 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG P C: 2x2 —y+1=0,C P [6g (1, 3) R WY W@ qU W@ x +y =19 AL,
YT IqUIY H, &5 61 845 d A B, dl 60A SRET 8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155054067 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the line [ : 3y — 2x = 3 1s the angular bisector of the lines /; : x —y + 1=0 and

I3 tax +py+17=0, then e* + < —a—f is equal ta

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155054067 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Iﬂ%ﬁ@il : 3”1'—21=3W3ﬁ53 :x—y+1=0d4ll; :ax + Py +17=0 Bl HI0T
JafgHIE® B, Al o + B2 —a— f TSR T

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 27 Question Id : 7155054068 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the tangent to the parabola y* = 12x at the point (3, o) be perpendicular to the
line 2x + 2y = 3. Then the square of distance ot the pomnt (6, —4) trom the normal

to the hyperbola o® x* — 9y* = 9¢* at its point (. — 1. o + 2) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155054068 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T JRAAd y2 = 12x @ (6 (3, o) R WY @1, 3@ 2x + 2y =3 P qadd ol dl
16 (6, —4) DI, AIRITT o x> — 9y? = 9¢? B 164G (e — 1, o + 2) R AT I
AU

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054069 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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I~y &—3

Letthe line / i1 x=—=——, 1 €K mecttheplane P:x+2y+3z=4 at

2

[T X

¢
d - . . . J
the point (o, B, 7). If the angle between the line [ and the plane P is cos™ \Jlllﬁ _“
\ Y,

then o + 2P + 67 15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054069 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T |- v z-—3

. f:'x: ,,; = = -f;i.-E.[:& ?WF:I+2}?+33=4ﬁ'
2 A -

45 (0, B. v) W Ol €1 97 W@ | 3ur 99ad P & &9 1 B0 cos™ | |

\

?ﬁﬁ—lﬁ'—-ﬁ’fwg

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

14 |

\

),

Question Number : 29 Question Id : 7155054070 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

~
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-

Le-tgj-:;f+2;+3§m1d£:f+ : k-t cisavectorsuchthat .6 =11.
6-(5}&5):27311‘:15*5:—&#.

|, then ‘5 X E'i “is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155054070 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e ;H:vHME{%ﬂb_I_,_J, k%lﬂlﬁ“wﬂiﬁ-ﬂﬂ%%ﬂ
& =11, b-(axc)=273h-¢ =—3|b| . |axz

mpvﬁ|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155054071 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Let the probability of getting head for a biased coin be e It 1s tossed repeatedly

until a head appears. Let N be the number of tosses required. It the probability that
P

Q’ where p and q are co-

p P - | .
the equation 64 x~ + 5Nx +~ 1 =0 has no real root 1s

prime, then g — p 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155054071 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

A1 U SMfYd e o fou g SiH &1 ufddT - B1 59 §R aR ISl 9l

=t

g O @ fdb fard Wi = 81 9Y | A1 FHad &l 3819 @I G0 YSTN ¢
gl FHIDRT 64 x% + 5Nx + 1 =0 P dRAIAP B 7 G- DI WD f%ﬂﬁp

YT q 3EHE 6, Al q—p WEI 8

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A
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Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

3

Online
Mandatory
20

20

80

Yes

0

1

715505249

Yes

null

Question Number : 31 Question Id : 7155054072 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A car P travelling at 20 ms™

Q 1s travelling behind the first car in the same direction with a velocity 40 ms

The frequency heard by the passenger of the car Q 1s
approximately [Take, velocity of sound = 360 ms™']

Options:
71550512891. 314 Hz
71550512892. 421 Hz

71550512893. 483 Hz

71550512894, 471 Hz

sounds its horn at a frequency of 400 Hz. Another car
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Question Number : 31 Question Id : 7155054072 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks :

20 ms™! F ed| U PR U Bl §RT 400 Hz HGII Dl &1 Idd Hal o

1

ORI PR Jodil DR D Ul 40 ms™! A I I S H I 61 8| SR PR P

gt gRIGHT g wy g (fom g, = 1 a7 =360 ms™)

Options:

71550512891. 514 Hz

71550512892, 421 Hz

71550512893. 485 Hz

71550512894, 471 Hz

Question Number : 32 Question Id : 7155054073 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks :

The root mean square speed of molecules of nitrogen gas at 27°C 1s

1

. : . — P
approximately : (Given mass of a nitrogen molecule = 4.6 = 1072° kg

and take Boltzimann constant l{:

.= 1.4 x 10237k

Options :

71550512895, 27.4 m's

71550512896. 91 m/s

71550512897, 313 m/s

71550512898. 1260 m/'s

~
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Question Number : 32 Question Id : 7155054073 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

27°C R ATSCIoH 19 & U[3fi I 97 HIed Gl ol R4 © « (14a1 8, ATscier
& T U] BT GOIHM = 4.6 10720 kg [T SlecgH (HUTI®

kg = 1.4 x 10711

Options:

71550512895, 27.4 m/s

71550512896. 91 m/s

71550512897, 323 m/s

71550512898, 1260 m/=s

Question Number : 33 Question Id : 7155054074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A space ship of mass 2 * 10 * ke is launched into a circular orbit close to the earth surface, The additional

velocity to be imparted to the space ship in the orbit to overcome the gravitational pull will be (if & = 10 /s

and radius of earth = 6400 km);

Options:

11.2 (V2 1) kmis
71550512899,

7.4 (xﬁ = I] km/s
71550512900. - i

8 hﬂE 1) Jem /s

a
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7.9 (u"j‘?‘. — I} kkm/s
71550512902. -

Question Number : 33 Question Id : 7155054074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2 % 10* ke GO0 & U GG 314 92! @I Harcddl U JaiaR &1 1 B1s1 ol 3 | ooy a¢

i, W O e

T e A & 00 BT H G T 1 18T 3ida av g
(416 ¢ = 10 m/s” T G2l i FI0T = 6400 k)

Options:

11.2 (JE 1) ks
71550512899.

7.4 (wﬁ = I] km/s
71550512900. - i

8 («JE — I]l ks
71550512901.

7.9 (u"?ﬂ — I} kem/s
71550512902. -

Question Number : 34 Question Id : 7155054075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Thermodynamic process, in which internal enerey of the system remains
constant 1s

Options :

71550512903. Adiabatic
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71550512904. Isochoric

71550512905. Isobaric

71550512906. Isothermal

Question Number : 34 Question Id : 7155054075 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRTIdD Ushy forgd g &t 3=iike Sl fH1ad 84l 3
Options:

71550512903. ©&I™H

71550512904, SHATTdHE

71550512905, THGIS]

71550512906. JHdTI

Question Number : 35 Question Id : 7155054076 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A bodv of mass 500 g moves along x-axis such that it's velocity varies with

displacement x according to the relation = 1(+/yx m's the force acting on the

a@
gcollegedumaa
India’s largest Student Review Platform

S

body 1s:-
Options:




71550512907. 3 N
71550512908. 25 N
71550512909. 125 N

71550512910. 166 N

Question Number : 35 Question Id : 7155054076 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

500g SOIHH B U [UUS x-3H& & 4R 59 UHR Tid Bl § [ 59B1 a7l
AR x B Y = |0y m's &R D IR Faaal 6| [UUS R T aral

del %
Options :

71550512907. 3 N
71550512908. 23 N
71550512909. 1253 N

71550512910. 166 N

Question Number : 36 Question Id : 7155054077 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eight equal drops of water are falling through air with a steady speed of 10 cm/s. If

the drops coalesce. the new velocity is:-
gcollegedumaa
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Options:

71550512911. 5 emv's
71550512912. 10 cm/'s
71550512913. 16 cm/s

71550512914, 40 cmy's

Question Number : 36 Question Id : 7155054077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ol &1 316 g arg H U (R 91d 10 em/'s § TR 81 81 TfE d a0 9% U Gl
oIl % 137 &

Options:

71550512911. 3 cnv's
71550512912, 10 emy/s
71550512913. 16 cm/s

71550512914, 40 cm/s

Question Number : 37 Question Id : 7155054078 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It V 1s the gravitational potential due to sphere of unitform density on it's surface,

then it's value at the center of sphere will be:-
gcollegeduniaa
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Options:

71550512915, V

V
71550512916, 2

3V
71550512917. 2

4

71550512918. 3

Question Number : 37 Question Id : 7155054078 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

aig ThHHH Ud & TTiel & PRI 5HS ¥ TR g [dyg v gl, di !

% U 39HI 4 B

Options:

71550512915. V

V
71550512916. 2

3V
71550512917. 2

o

71550512918. 3

[;

G

~

S
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When vector A =27 + 3; +2) is subtracted from vector B, it gives a vector
equal to 2 . Then the magnitude of vector B will be :
Options :

71550512919. 3

71550512920, v 5

71550512921, + 13

71550512922. 1-...“%

Question Number : 38 Question Id : 7155054079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o Qe B UG A=2/+3/+2k PIUCHWIE 2; & TG [P FigW
&A1 8| 98 Qiex B PT URHI0T ShT:

Options:

71550512919. 3

71550512920, v 5

71550512921, « 13

71550512922. ‘JE
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Question Number : 39 Question Id : 7155054080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A projectile is projected at 30° from horizontal with initial velocity 40 ms™!. The
velocity of the projectile at t = 2 s tfrom the start will be

(Given g = 10 m.-azj
Options:

71550512923, Zero

_ =3
71550512924, 20:/3 ms

71550512925, 20 ms—"

= =}
71550512926, 40+/3 ms

Question Number : 39 Question Id : 7155054080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U Uaw &faeg 9 30° & S0 IR 40 ms~! & URIMEIS 371 9 Uaifud fear o
g URP F t=2 s TR V& &I 47 g
[ﬁfﬂgr g =10 m--"s}}:

Options :

71550512923. L

—1
71550512924, 203 ms

71550512925. 20 ms™
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—1
71550512926, 40+/3 ms

Question Number : 40 Question Id : 7155054081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It force (F). velocity (V) and time (T) are considered as tundamental physical
quantity. then dimensional tormula ot density will be :

Options:

71550512927, F-V—=T°

71550512928, FV*T™°

71550512929, FV T

71550512930. FV =T

Question Number : 40 Question Id : 7155054081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe &9 (F), 97 (V) TUT 90 (T) D1 7ol Hifde A1 feran &g, i v o1 fasiig
g4 g

Options:

71550512927. F*V—=T°

71550512928. FV T
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71550512929, FV T~

71550512930, FV =T

Question Number : 41 Question Id : 7155054082 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In satellite communication. the uplink frequency band used 1s

Options:

71550512931, 76 — &8 MHz

71550512932, 420 — 890 MHz

71550512933, 3.7 —4.2 GHz

71550512934, 5.9

3

23 —-6.425 GHz

Question Number : 41 Question Id : 7155054082 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

J

070G Ha¥

Options:

dig-

H3ugad 3= 3

71550512931. 76 — 88 MHz

71550512932, 420 — 890 MHz

71550512933, 3.7 —4.2 GHz

%
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71550512934, 5.925 —6.425 GHz

Question Number : 42 Question Id : 7155054083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The logic operations performed by the given digital circuit 1s equivalent to:

A » l E‘\\”

B e—t\—u

\
-

Options:

71550512935. AND
71550512936. OR
71550512937. NAND

71550512938. NOR

Question Number : 42 Question Id : 7155054083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ T SHifhd GRUY GRI &1 715 dlidd Hichdl [bdd Y9 B:

e D T o
"

—
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71550512935. AND

71550512936. OR

71550512937. NAND

71550512938. NOR

Question Number : 43 Question Id : 7155054084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When one light ray 1s reflected from a plane mirror with 30° angle of retlection,
the angle of deviation of the ray atter retlection is:

Options:

71550512939, 1107

71550512940, 1207

71550512941, 1307

71550512942, 140°

Question Number : 43 Question Id : 7155054084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o U TR Ry faaft 9 gri 30° & URIgd 10T 9 GRTafdd aidl 6.
RTd- & U (b0 F [aga HI &:

Options:
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S



71550512939. 110°

71550512940. 120°

71550512941, 150°

71550512942, 140°

Question Number : 44 Question Id : 7155054085 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The energy of He ™ 1on 1n its tirst excited state is, (The ground state energy for the
Hydrogen atom 15 —13.6 ¢V):

Options:

71550512943, —534.4 eV
71550512944, —13.6 eV
71550512945, —3.4 eV

71550512946, —27.2 eV

Question Number : 44 Question Id : 7155054085 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
He™ 310 &I 58| TYH Jdlfold AT H FHil 3 (B8 URHI] & |

AT H FHol -13.6 <V B):
gcollegeduniaa

Options:




71550512943, —54.4 eV
71550512944, —13.6 eV
71550512945, —3.4 eV

71550512946, —27.2 &V

Question Number : 45 Question Id : 7155054086 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of the de-Broglie wavelengths of proton and electron having same
Kinetic enerey :

(Assume m, = m, x 1849)
Options :

71550512947, 2:43
71550512948. 1:6.
71550512949, 1:30

71550512950. 1:43

Question Number : 45 Question Id : 7155054086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A TSl Sl & Wiel qUl Seiagi- S aieed! BT SUrd (7, mp = m,

1849) &:
gcollegeduniaa
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71550512947, 2:45
71550512948. 1:62
71550512949, 1:30

71550512950. 1:453

Question Number : 46 Question Id : 7155054087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A plane electromagnetic wave of frequency 20 MHz propagates in free space along

x-direction. At a particular space and time, ]_f = 6.6 V/ What is B at this

/ m-
point?

Options:
71550512951, 2.2 x 107k T
71550512952, 2.2 x 107k I

=X, - g
71550512953, 2.2x 10 "i {

71550512954, —2.2x 107 I’

Question Number : 46 Question Id : 7155054087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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20 MHz A3 &1 U GHAd degagad g il gad HH1 H x-Gq P
IR HaRA Bl 81 U FEd WH W R, E = 6,65 v/ m 61 39

f[eg IR B wIg?

Options:

71550512951, 2.2x 10k T

71550512952, —2.2x 10k T

71550512953, 2.2x 107 T

71550512954, 2.2 x 1075 T

Question Number : 47 Question Id : 7155054088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15
labelled as Reason R

Assertion A: A bar magnet dropped through a metallic cylindrical pipe takes
more time to come down compared to a non-magnetic bar with same geometry and
mMass.

Reason R: For the magnetic bar, Eddy currents are produced in the metallic pipe
which oppose the motion of the magnetic bar.

In the light of the above statements, choose the correct answer from the options
oiven below

Options :

71550512955 DBoth A and R are true and R 1s the correct explanation of A

71550512956 DBoth A and R are true but R 1s NOT the correct explanation of A

L]
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71550512957, A 1s true but R 13 false




71550512958, A 1s false but R 1s true

Question Number : 47 Question Id : 7155054088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 &1 HY 48 T 3 U Dl STUSYT A TU G Bl PRUBRUIR I
EIEGICRIRICIN

AUPYTA: TP TS gD DI U YUlfedd Sa-1PR 95y U §IH TR IR
U8 §HI TSR 9 So0HM @1 TP GG TS DI Gl H A §6R 3T H
e/ THg Wdl o

®RUTR: TG B3 & (A0, UIfcdd yrgy § Hax ¥R1U 3G gl g ol
Y B8 B Tid BT fa0y Bl 6|
SWRIFd Byl & e 1. Fid fod 7 fdwedl § 9 981 SR 9T

Options:

~

21550512955 Gl A TUTR Tol & Ud R, A @ Yol AR o

-.ﬂ"

71550512956, &1 A TUT R el ¢ TRq R, A &l Fel Sred el ©

71550512957, A Hel & U R TTed e

=%
11550512958, AT 8 RqRTel &

Question Number : 48 Question Id : 7155054089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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An electron 1s allowed to move with constant velocity along the axis of current
carrying straight solenoid.

A. The electron will experience magnetic force along the axis of the solenoid.
B. The electron will not experience magnetic force.

C. The electron will continue to move along the axis of the solenoid.

D. The ¢electron will be accelerated along the axis of the solenoid

E. The electron will follow parabolic path-inside the solenoid.

Choose the correct answer from the options given below:

Options:

71550512959, A and D only
71550512960, B and C only

71550512961, B: C and D only

71550512962, B and E only

Question Number : 48 Question Id : 7155054089 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U% goige Ue it yRTare! gRiferdt &1 sfef & sgfew fFHad 9 3 7f
P&

A. SAFCH, URATIST DI 318 & G TP §cl DI 3FTHT B
B. SUaCH, DG g BT YT ol DU

C. SUF, uf?wﬁw Bl 318 b G TR Tic P

D. SAdH, URATHT P 3 & [G% diXd BRI

E. SUFEM, GRATG®T & 3fa RAQAIDR UY BT SR S|

i1 f&8 74 fasedl § 1 I8l SR I

Options:

71550512959, ®dd A TUT D

a
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hde B dYI C

71550512961, ®d¢ B, C dYI D

71550512962, Bdd B dUTE

Question Number : 49 Question Id : 7155054090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8V

The current tlowing through R, 1s :
Options:

La

71550512963. 2

o
71550512964. 4

I
— A

71550512965, 3

a
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2
— .L'I%..
71550512966. 3

Question Number : 49 Question Id : 7155054090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gV

R, H UdIfigd URTg :

Options:

b | —

71550512963.

A

| —

71550512964.

I
g .L'ﬂ.h
71550512965, 3

P2

— A
71550512966. 3

a
&collegedumaa
India’s largest Student Review Platform

S



Question Number : 50 Question Id : 7155054091 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A capacitor of capacitance C 1s charged to a potential V. The tlux of the electric
ticld through a closed surtace enclosing the positive plate ot the capacitor 1s :

Options:

CV

71550512967. “0

20V

71550512968. €0

I

71550512969, &1

71550512970. Lero

Question Number : 50 Question Id : 7155054091 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
C YT & U HYTRA DI TP V [dHd dF 3H1d1¥

d 14701 11 & | GoTRA @1

YD TE Bl U U U & 9 H o aral [degd & &1 Hidd ©:

Options:
CV

71550512967. “0

20V

71550512968. €0
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TR F

%

e
71550512969, <“0

71550512970, L™

Physics Section B

Section Id : 715505250
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505250
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 7155054092 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A wire of density 8 » 10° ke/m’ is stretched between two clamps 0.5 m apart. The

extension developed in the wire is 3.2 x 10 m. If Y =8 x 10!Y N/m?, the
fundamental frequency of vibration in the wire will be Hz

Response Type : Numeric

=_ ___ _B__ _ a®*_ __ ™ _ ____* __ 1 ems_ ___ s _ \7

a
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 7155054092 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8 % 10° kg/m® U & U dR &I 0.5 m DI g31 UR YT gl it & &= Gidl
Sdl 8| IR § 39 f[dsiR 3.2 10 m B 1 Afd IR & Uary &1 47 W=l
UM ¥ =8 x 1010 N/m? TR H S0 @i Jd 3{IqM Hz 8111 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155054093 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

, - . - \ T . - -
The surface tension of soap solution is 3.5 ¥ 107> Nm™.. The amount of work done
required to increase the radius of soap bubble trom 10 em to 20 cm 15

x 107 1.

(take m=22/7)
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155054093 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g & Ui &1 J§ T1d 3.5 x 1072 Nm~! &1 91§ & gagdl DI (399 10 em
20 cm G SHER EEICEN C AR A REIE] « 10 181
(ST 8, m=22/7)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 7155054094 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A circular plate 15 rotating 1 horizontal plane, about an axis passmng through its center and perpendicular to the
plate, with an angular velocity @, A person sits at the center having two dumbbells in his hands, When he
stretches out his hands, the moment of inertia of the system becomes triple. It E be the mutial Kinetic energy of
the system, then final Kinetic energy will be — . The value of x 15

X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 53 Question Id : 7155054094 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 A R

0 IR Fepdll &Sl T H, Fepell T T8 Do ToRe el 348f & NG U P10 o0 ¥,
‘fgﬂhmumslgm mr&wﬂﬁw LRE ammﬁmaﬂm«mammma%\madﬁsaﬂwa 7
(Tl &l e 1o Sl i 71 51 oifdl 8 | 3ie e &l WRIE Tide Hul E 8, d aff<im

e @et 2 gt «PIA el

X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155054095 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A block of mass 5 kg startmg from rest pulled up on a smooth mehne plane making an angle of 30° with

horizontal with an affective acceleration of 1 ms™. The power delivered by the pulling foree at t = 10 s from
the start 15 W

[use ¢ = 10 ms™]

(calculate the nearest mteger value)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

gcollegeduniaﬁ

S



Question Number : 54 Question Id : 7155054095 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 kg SOTH 1 T@ 1[eeh B 4fdw 4 30° DI ael | fodp 7 Fdel W v € SR o 3R @
a1 8 | ST UHTST R0 1 ms~ &1 RPN T t= 10 « R G0 90 g7 21 718 ey W
(e quie H) 3 (W8 g = 10 ms™)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155054096 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A nucleus disintegrates into two nuclear parts, in such a way that ratio of their
nueclear sizes is 1 : 21>, Their respective speed have a ratio of n : 1. The value of n
15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155054096 Question Type : SA Calculator : None

a
gcollegedumaa
India’s largest Student Review Platform

S

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




U 1Y af YD || § o9 UHR [9\ivsd gidl & & 39 Tiusg

BRI DT U 1: 213 1 ITD! HH: Il BT HUIAn: 18] n P T
el

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

B

Question Number : 56 Question Id : 7155054097 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As shown m the figure, a plane mrror 1s fixed at a height of 50 cm from the bottom of tank contaming water

[ 4)
[{=— |. The height of water in the tank 1s 8 cm. A small bulb 15 placed at the bottom of the water tank.
, 3
The distance of image of the bulb formed by murror from the bottom of the tank 15 oI,

N\
50 cm

gem—
v

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

~
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Question Number : 56 Question Id : 7155054097 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. (4 ‘ |

e Rd FemaR, O | gr=— | & <o BI el 50 om FR 0@ $900 G001 T 1 36 & U1 @] s §
.

em 81 T & ¢ Bl 701 R T Bicl §ed 61 | <P Pl qail § GUU GRI 9 8ed & Widllam ol g

CIn %l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155054098 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A coil has an inductance of 2H and resistance of 4 2. A 10 V 15 applied across the
cotl. The energy stored in the magnetic tield after the current has built up to 1ts

equilibrium value will be x 10747,

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

B o i i i e L i o (B i
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Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155054098 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T HUS P IRPcd 2 H TUT HioRIY 4 © 8 | HUSeH & R & i 10 v fagya
dlgd §d ARG g1 YRTH 53 I AH S 514 & IURII g &9 1
i< Sl &1 A x 10727 B

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054099 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A metallic cube of side 15 em moving along y-axis at a uniform velocity of 2 ms™. In a region of uniform
magnetic field of magmitude 0.5T directed along z-axis. In equilibrium the potential difterence between the
taces ot higher and lower potential developed because of the motion through the tield will be mV.

;
A

Vi

a
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054099 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15 e 41 T U ST U -G08 & S7fe 2 ms™ & CHHHT o7 9 71 Xl 6| 58 TRER H 0.7
A & UTHHTH TP &7 B 1S3 2-318 § U & | &7 T Td & SR GraR 1 3= 7uT {19
[qHd & Fagl & 9 I [dHTR mV BT

v

A"

L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155054100 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two 1identical cells each of emf 1.5 V are connected i series acrossa 10 ©2
resistance. An 1deal voltmeter connected across 10 Q resistance reads 1.5 V. The
internal resistance of each cell 15 0,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155054100 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1.5 vV {agqd aIge g & <l U gHH 9 Ush 10 Q Wiy o RRI 9 4o sha o
@%%[mm‘&:rﬁ‘m%?ﬁm@@@ 3Te dieetiex 1.5 V UIedid adl g
TA® T BT AHIRT ARy QT

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155054101 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the given circuit,
Cy=2JF. Cy=02DF, Cy=20F, Cs=4nE Cs=2 pF, Cg =2 pE, The

charge stored on capacitor Cy 1s uC.
5 Ca
Tamml
|
10V = otz ) S o i)
| F——1
|
C, C.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155054101 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G T uRgy .

C;=2puF, C,=0.2 uF, C3=2 pF, C4 =4 uF, Cs=2 uF, C = 2uF, GYUTNA

C, W Yfdd 34 uC gl

R
1

10V — wna o (R 2P

| ——|

C, o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Chemistry Section A
Section Id : 715505251
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response : ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505251
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 61 Question Id : 7155054102 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following pairs 1s an example of polar molecular solids?

Options:

71550512981, S0a(s). NHj(s)

715505172082 S50,(s), CO5(s)

a
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71550512983, HCI (s). AIN (s)

71550512984, MgO (s). SO,(s)

Question Number : 61 Question Id : 7155054102 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHfRId & W 19 1 oS 4dig 31fias 314 &1 34180 g?

Options:

71550512981, S02(s). NHj(s)

71550512982, SO2(s). CO4(s)

71550512983, HCI (s). AIN (s)

71550512984, MgO (s). SO,(s)

Question Number : 62 Question Id : 7155054103 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What weight of glucose must be dissolved in 100 g of water to lower the vapour
pressure by 0.20 mm Hg ?

(Assume dilute solution 1s being formed)

Given : Vapour pressure of pure water 1s 54.2 mm Hg at room temperature. Molar

mass of glucose is 180 g mol ™!
Options:

~ArrArAannNr :i ﬁD o
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71550512986, 4-09 ¢
71550512987, =29 &

71550512988, 2-29 &

Question Number : 62 Question Id : 7155054103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
od @ dT] G1§ Pl 0.20 mm He d U & o8 DI B [dhd- YR P 100 g

g1 | UieH1 J1iev|

@7 feran Wi T o faegs §91d1 ©)

fear a1 g : PR & AU W Y[< od DI ai%] &1d 54.2 mm Hg § | TGHIY DI
AITR GoddT 180 g mol ™! el

Options :

71550512985, 2-09 ¢

71550512986, 4-69 g

71550512987, <-29 ¢

71550512988, 3-29 ¢

Question Number : 63 Question Id : 7155054104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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For a chemical reaction A + B — Product, the order 15 1 with respect to A and B.

Rate ' [A] [B]
ol L_1 g1 mol L7} | mol L1

| ot [ 2 ] 05
_—
——

What 135 the value of x and y 7

Options:

71550512989. 80 and 2

71550512990. 40 and 4

71550512991. 160 and 4

71550512992. 80 and 4

Question Number : 63 Question Id : 7155054104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

& 15 Ymafae sifufsar A+ B — IdE, & fau sifuftsar o1 $ife A 3R B &

qadrd 181

3Ry BIAA TG 2

Options :

71550512989, 80 3{[¥ 2

71550512990, 40 31T 4

collegedunia:
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71550512991 160 3HX 4

71550512992, 80 3{I¥ 4

Question Number : 64 Question Id : 7155054105 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A solution 1s prepared by adding 2 g of “X* to 1 mole of water. Mass percent of
“X" 1n the solution 15

Options:

71550512993. 2%
71550512994, 3%
71550512995, 10%

71550512996. 20%

Question Number : 64 Question Id : 7155054105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“X* @ 2 ¢ DI 1 A G H G [dad- g-1a1 9rdl & | fdaaq J <X &1
SogHH YHRd 8

Options:

71550512993. 2%

71550512994, 3%
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71550512995. 10%

71550512996. 20%

Question Number : 65 Question Id : 7155054106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I : In the metallurgy process. sulphide ore is converted to oxide before
reduction.
Statement II : Oxide ores in general are easier to reduce.

In the light of the above statements. choose the most appropriate answer trom the
options given below:

Options:

71550512997. Both Statement I and Statement II are correct
71550512998. Both Statement I and Statement II are incorrect
71550512999, Statement [ 1s correct but Statement II 1s incorrect

71550513000. Statement I 1s incorrect but Statement II 15 correct

Question Number : 65 Question Id : 7155054106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®HY 1 : UIdHH UhH J Hehlss AT | HUdidd § Ugd Hlqqgs o
gRafdd [ Jar g
PYTII : A TS S D! DI TId BT AT BIAT §

-

SIS HUHI & YR G A 48 10 f[ddhedl # I Tgd 3id SR &I I4-
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Options:

71550512997, U HR I GHI 5 |

71550512998, YU I S?I?II ] &mﬂ%l

11550519999 DU I T U] DY IT 35 |

21550513000, DU I HH TR HYH I I g |

Question Number : 66 Question Id : 7155054107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which hydride among the following 15 less stable?

Options:

71550513001, LiH
71550513002, BeH;

71550513003, NHz3

71550513004, HF

Question Number : 66 Question Id : 7155054107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fofdiad glesss H Jad & H TS 8?2
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Options:

71550513001. LiH

71550513002. Bes

71550513003, NH3

71550513004, HF

Question Number : 67 Question Id : 7155054108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One mole of P, reacts with 8 moles ot SOCI, to give 4 moles of A, x mole of 50,

and 2 moles of B. A, B and x respectively are

Options:

71550513005, PCl3. S,Cl; and 4

M

71550513006, £OCl3. S;Cl; and 2

i

71550513007, PCl3. 5;Cl; and 2

71550513008, POCl3. $,Cl; and 4

Question Number : 67 Question Id : 7155054108 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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P, &1 U HId SOCL, o 8 Il U 3ffchur b A 14 HId, SO, BT x IR B

HI2A@A AT sl A, B 3R x HHI: ©
Options:

71550513005, PCla. S2Cl, 3R 4
71550513006, POCl3. S5CL 3R 2
71550513007, PCl. S,Cl, 3R 2

71550513008, POCl3. 5,Cl; 3R 4

Question Number : 68 Question Id : 7155054109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Alkalt metal from the following with least melting point 1s:
Options:

71550513009, Na

71550513010. &k

71550513011. Rb

71550513012. Cs

Question Number : 68 Question Id : 7155054109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1
FEfeiRad O O 9ad & Sa-id ardl &R Ui 8

Options:

71550513009. Na

71550513010. &

71550513011. Rb

71550513012. Cs

Question Number : 69 Question Id : 7155054110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The magnetic moment 15 measured 1n Bohr Magneton (BM).

Spin only magnetic moment of Fe in [Fe(H 303,5]3_ and |F e(C}I}ﬁ]E_ complexes
respectively 1s:

Options:

71550513013. 6.92 B.M. 1n both

71550513014. 4.89 B.M. and 6.92 B.M.

71550513015. 5.92 B.M. and 1.732 B.M.

71550513016. 3.87 B.M. and 1.732 B.M.

Question Number : 69 Question Id : 7155054110 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1
DY JHTYU! Bl 9 HUT (BM) H {91 Sl 5 |

Fe @1 Had YUl 984 YU DTl [Fe(H,0)e]>™ 3R [Fe(CN)]*~ H HE:

2

Options:

71550513013, &Il H 6.92 B.M.

71550513014, 4.89 B.M. 3{IX 6.92 B.M.

71550513015. 5.92 B.M. 3{¥ 1.732 B.M.

71550513016. 3.87 B.M. 31X 1.732 B.M.

Question Number : 70 Question Id : 7155054111 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

.=

Given below are two statements. one 15 labelled as Assertion A and t

labelled as Reason R.

Assertion A : [CoCl(NH 3)5]3_ absorbs at lower wavelength of light with respect to

[Co(NH;)s (H,0)]°™

e other 1s

Reason R : It is because the wavelength ot the light absorbed depends on the

oxidation state of the metal 1on.

In the light of the above statements, choose the correct answer from the options

orven below:

Options :

71550513017 Both A and R are true and R 1s the correct explanation of A

71550513018 Both A and R are true but R 1s NOT the correct explanation of A

~

S

collegedunia:

India’s largest Student Review Platform



71550513020. A 1s false but R 15 true

Question Number : 70 Question Id : 7155054111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTUBYT A : [CoCI(NH,):]*™ DI qa H [Co(NH,): (H,0) ™ DI DI HE
-G 2 UR AL gl 3|

BRI R : IS (T USDHTR BT T <& YT AT Pl SHFHIBRUT G
R A4 B g

SWRIGd DYl & YR TR A" &g T Tddhedl & I ggd Idd IR Bl -

Options:

71550513017 Both A and R are true and R 1s the correct explanation of A

71550513018 Both A and R are true but R 1s NOT the correct explanation ot A

71550513019. A 1s true but R 1s false

71550513020. A 1= false but R 1s true

Question Number : 71 Question Id : 7155054112 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds 1s an example of Freon?

Options:

71550513021, C2CLF,

a
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71550513022, CoHoE,

71550513023, C2HE3

71550513024, ©2F4

Question Number : 71 Question Id : 7155054112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEfeiad H 9 & 91 i1 Wi &1 38U 82
Options:

71550513021, C2CLF,

71550513022, C2HaF>

71550513023, C2HE3

71550513024, C2F4

Question Number : 72 Question Id : 7155054113 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If Ni*™ is replaced by Pt™ in the complex [NiCl EEI'Z]E_, which of the following

properties are expected to get changed ?

A. Geometry
B. Geometrical 1somerism
C. Optical 1somerism

T e "\
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Options:

71550513025. A and D

71550513026. B and C

71550513027. A. B and C

71550513028. A. B and D

Question Number : 72 Question Id : 7155054113 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afd & [NiCl,Br, 2~ H NiZ™ @l Pt2™ T WidwyTiud &R f4g1 oy ol Fafdiad

T fape Turerd] givacd= 924 87

A, SIfHdl
B. SOl HTGUdd]
C. Ydul HIGYdd]
D. T g UTeH

Options:

71550513025, A 3R D

71550513026. B 3R C

71550513027, A. B 3R C

71550513028, A. B 3R D

N G N A EEE O E am am -

a8 "ol o B LW -
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Cnmples Colour
N T —

'nrfe'i*’-"*-. l:

Choose the correct answer from the options given below:

Options:
71550513029. A-ll, B-1II, C-I, D-IV

71550513030, A-LIL, B-IV, C-II, D-I

71550513031, A-ll, B-IV, C-I, D-III

71550513032, A-II, B-III, C-IV, D-I

Question Number : 73 Question Id : 7155054114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A I DI 11 @f@ﬁiﬁd G

-n_

' B. [K5[Co(NOy)
-_
D [Fes[Fe(CN)g; W

44 feg 7 fas el § 9 9el SRl 9.
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71550513029, A-1l, B-1IL C-I, D-IV

71550513030. A-1LIL B-IV, C-I1, D-I

71550513031, A=l B-1V, C-I, D-III

71550513032, A-1L. B-IIL. C-IV, D-I

Question Number : 74 Question Id : 7155054115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Compound from the following that will not produce precipitate on reaction with
AgNO; 15

Options:
Br
71550513033.
CH =CH—CH,— Br
71550513034.
Br
71550513035.
/71550513036.
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Br

Question Number : 74 Question Id : 7155054115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FgfeiRad O I T wlifd AgNO, & H1Y 3fifhar I aaqu 381 4dl 3

Options:

Br

71550513033.

ij|===(jfi———1:I{2———*[Er

71550513034.

71550513035.

Br

71550513036.
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Question Number : 75 Question Id : 7155054116 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(i) Nal, H;PO,

(1) Mg, Dry ether

>

H,C—CH, —CH—CH;
: - 1| 7 (m)D,0

OH
Product [ X] formed in the above reaction 1s ;

Options:

H

|
H3C — CH"} — C — CH*;‘
P | =

71550513037. OH

H,C—CH=CH—CH,

71550513038.

H,C — CH,— CH— CH,
|

71550513039. D

71550513040.

H,C —CH,— CH = CH,

[ X]
Product

Question Number : 75 Question Id : 7155054116 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

~

S

collegedunia:

India’s largest Student Review Platform



(1) Nal, H;PO,
(1) Mg, Dry ether

H,C—CH, —CH—CH, —. > [X]
L B © ()D,0 Product
OH
IR i 8 991 396 [X] B
Options:
H

|

71550513037. OH

71550513038.

H;C — CH,— CH— CH,
|

71550513039. D

H,C —CH,— CH = CH,

71550513040.

Question Number : 76 Question Id : 7155054117 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The major product formed in the following reaction is

Zn(Hg) / HCI
CcHs — CH (OH)—CH— CH, CHO —>  Major products

| A
CH,

CgHs — CH(OH) — CH— CEHT?

A |
. o -
CHs— CH= C — C,H;
B |
_ WHy
CH;— C =CH= C,H,
C I
CH,
D.
CI—I3

Choose the correct answer from the options given below:
Options:

71550513041, B only

71550513042, 4 only

71550513043, D only

71550513044, C only

Question Number : 76 Question Id : 7155054117 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1




FafRad sifufaman | &1 U9@ JaG ¢

Zn(Hg) / HCI
C¢Hs — CH (OH)—CH— CH, CHO ————=> Major products

| A
CH,

C¢Hs — CH (OH) — CH — C,H;

A |
CH,
CHi— CH= C — C,H,
B |
CH,
C |
CH,
P
D. CHs
CH,
19 150 T [dPedl H 9 el IR DI T
Options:

71550513041, ddd B

71550513042, had A

71550513043, dd D

71550513044, Bdd C

Question Number : 77 Question Id : 7155054118 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

]
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Given below are two statements. one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

O

Assertion A : /]\/U\ can be subjected to Woltt-Kishner reduction to give

Cl
O
Reason R : Wolff-Kishner reduction is used to convert |l into L CH
26

In the light of the above statements. choose the cotrect answer trom the options
otven below:

Options:

71550513045 DBoth A and R are true and R 1s the correct explanation of A
71550513046 Both A and R are true but R 1s NOT the correct explanation ot A

71550513047. A 15 true but R 1= false

71550513048. A 1s false but R 1s true

Question Number : 77 Question Id : 7155054118 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
()

arﬁlﬁuq;“)YU\ GIE %ﬂ&uﬂw@%{\“&amm%

1 Cl

0
PRUTR : AicP ([BR ATFgH139a || &I o, H aRkafdd &=+ |
7N

ST B
SQRIFd PUl & G4 ¥ Hd 40 T [dhedl T 9 I8! ST &l I:

. oa® .
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21550513045 A SRR &HI ol 6 3R R, A &I Yol ouRadl g

21550513046, A SR R &IHI U8l § UG R, A Pl gl oUIE ol 6

71550513047, A T W R 3HA ©

71550513048, A SFHA T WGR I G

Question Number : 78 Question Id : 7155054119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Compound ‘B’ 1s

NaNO, NH,SH
— > . > B
HC E IEG Major
Options:
NH,
O
OH
71550513049.
~OH
71550513050.
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SH

71550513051.

71550513052.

Question Number : 78 Question Id : 7155054119 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g B* §:
!
— = K = B
Options:
NH,
O
OH

71550513049.
71550513050.
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OH

SH

71550513051.

71550513052.

Question Number : 79 Question Id : 7155054120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 15
labelled as Reason R.

Assertion A : A solution of the product obtained by heating a mole of glycine with
a mole of chlorine in presence of red phosphorous generates chiral carbon atom.

Reason R : A molecule with 2 chiral carbons 15 always optically active,

In the light of the above statements. choose the correct answer from the options
otven below:

Options:

B L]
FFFFFFFFFFF ﬂﬁi-l-l ﬂ ":I'I"IFI 1]:. A Tria "'.I‘!"l('l T.:' 16 "'1"1-':" ~ vt P\"‘!"‘Iua".’l'l'"l*'.l'l'il"i‘f"l L'_"l":l .&
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71550513054 Both A and R are true but R 1s NOT the correct explanation ot A

71550513055. A 1s true but B 1s talse

71550513056. A 1s false but R 15 true

Question Number : 79 Question Id : 7155054120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TUDYT A : A BEHRYE @ Ui § U Oid Wagd &f Ud Oid daR A
Y T A IR WK 31 DI faera- HIgid blad- YA 3dd Sl ol

HRUI R : &l DI D5l arel 0] SHR YUl Fithd BId B
SRIT DYl & T4 1 < f¢d 7 fadbeul T el SR &l I

Options:

21550513053 A AR R &I I 8§ AR R, A B Jol AR &

71550513054, A AR R Gl T € T R, A Bl Tel ARAT 51 &

71550513055, A I T W R ST §

71550513056, A ST e WJRIT G

Question Number : 80 Question Id : 7155054121 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a
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Given below are two statements

Statement I : Ethene at 333 to 343K and 6-7 atm pressure in the presence of Al
and TiCl, undergoes addition polymerization to give LDP.

[ 4]
rt
L

Statement IT : Caprolactam at 533-543K 1n H,O through step growth polymerizes
to give Nylon 6.

In the light of the above statements. choose the correct answer trom the options
given below:

Options:

71550513057. Both Statement I and Statement II are true
71550513058. Both Statement I and Statement II are false
71550513059, Statement I 1s true but Statement II 1s false

71550513060. Statement I 15 talze but Statement II 1s true

Question Number : 80 Question Id : 7155054121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®YF 1 : UL 333 § 343K AU HR 6-7 atm &6 G AlEt, HR TiCl, B SURYM
O ORI §gad 9 LDP ol & |

HY I : BYUITGCH 533-343K A4 | H,0 gl S50+ 4 A5aH 6 4dl ¢ |

SWRIgd YA & FgH H A e T fahedl H I Fel TR &I IH;

Options:

71550513057, PUA I R 11 H G ©

71550513058, PUA I R 11 &I A T

= =
AT T AT e} (T3 A A3 TT HIIAT =
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1550513050 PUT ] SAA g IR FUA I T &

Chemistry Section B

Section Id : 715505252
Section Number : 6

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505252
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 81 Question Id : 7155054122 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The volume of hydrogen liberated at STP by treating 24 ¢ of magnesium with excess of hydrochloric acid 15
)
<1072 L

Given : Molar volume of gas 15 22-4L at STP.

Molar mass of magnesium is 24 g mol ™
Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 7155054122 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

24 o TUITETTH &1 g3 IaING 3 & e § AP Y STP IR 304 Bl5aia &
SIUGE x 1074 L

fEUT T 8 : STP IR 19 &1 HIER MU 224L B
IEffRIas &7 HieR G009 24 g mol™! B

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155054123 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The maximum number of lone pairs of electrons on the central atom trom the
tollowing species 15

ClO;™, XeF,, SFyand I3~

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155054123 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BEIRIEES tﬂgﬂtﬁ o &g TREN] GR 3Hff9ddy Uhih! I gaagrdl i S=0
>

ClO;™, XeF,4. SFy and I3~

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 7155054124 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of correct statements from the followmng 1

A. For 1s orbital. the probability density 18 maximum at the nucleus

B. For 25 orbital, the probability density first mereases to maximum and then decreases sharply to zero,

C. Boundary surface diagrams of the orbitals encloses a region ot 100% probability of tinding the electron.
D. p and d-orbitals have 1 and 2 angular nodes respectively

E. probability density of p-orbital 1s zero at the nucleus

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Question Number : 83 Question Id : 7155054124 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THICad & § Ul HUAl Bl S 6

A. 1s DED P O7T FGHdl 0 D R YD 3

B. 25 P& & (01T WUl U-cd Ugal STy 0P §eal ¢ R ool § 4 dP geal 6|
C. Nfdedl & YIH1 g 3N gaderHl o Ul |- B 100 % W] o & 6l e 5 |
D. p 3R d-FEH! H FHY: 1 3R 2 PO AS 5

E. 7@ TR P- e BT Wiitddl 07 T4 6

A &0 T 9 ed ¥ 9ad IfYd I &I 7.

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 7155054125 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total number of mtensive properties from the following 1s
Volume, Molar heat capacity, Molarity, EY cell, Gibbs free energy change, Molar
mass. Mole

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 84 Question Id : 7155054125 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THfeEd T 718 701 &1 P =
T, TR FHTUTRal, JieRdl, E? 9, fTes gad 39l ka1, AR
gy, 4l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155054126 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

4.5 moles each of hydrogen and 1odine 1s heated in a sealed ten litre vessel, At
equilibrium. 3 moles of HI were found. The equilibrium constant for H,(g) + I.(g)

— 2HI (g)1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155054126 Question Type : SA Calculator : None
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Correct Marks : 4 Wrong Marks : 1

RIS S AR AAISH U@ & 4.5 Hid &I U ad dieX a5 Ui 8 4 [l
T | AIRITGRYT 9 HI & 3 AT (7| Hy(g) + () = 2HI (g) P 10T JrTaRl

RR® Bl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155054127 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of correct statements from the following is

A. E_.y 1s an intensive parameter

B. A negative E means that the redox couple 1s a stronger reducing agent than
the H /H, couple.

C. The amount of electricity required for oxidation or reduction depends on the
stoichiometry of the electrode reaction.

D. The amount of chemical reaction which occurs at any electrode during
clectrolysis by a current is proportional to the quantity of electricity passed
through the electrolyte.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155054127 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEfad O O 9ol oyl & & {
A Eqr [@ AU G

B. BUNEHS E° BT 31U ¢ fob Yo g/ H/H, Bl qa-1 H Yad U4 ¢

C. 3]

D. [dggd URI &R

TFHTHION HUTT U= & (U ARG [dggd YR DI AHA SIS

JTUThaT & Wisfhaiie! R HHI Sl g

alfed fagdd 4RI ST HHET & Y- 8idl 8|

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

deqd qgc H IMH® fducd &1 °E degdsided §

Question Number : 87 Question Id : 7155054128 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of correct statements about modern adsorption theory of

heterogeneous catalysis trom the following 1s

A. The catalyst 1s dittused over the surtace ot reactants.
B. Reactants are adsorbed on the surface of the catalyst.
C. Occurrence of chemical reaction on the catalyst’s surface through tormation
ot an intermediate.
D. It 15 a combination of intermediate compound tormation theory and the old
adsorption theory.
E. It explains the action of the catalyst as well as those of catalytic promoters
and poisons.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
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Possible Answers :

10

Question Number : 87 Question Id : 7155054128 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR T 18 [quH I Jorv b STVl gl & 19U Fel S| o T

Bl

A, HVPRE] D] 5 T JoR® [TR0 3 il 0|

B, HV {mam{mﬁ‘fﬂﬁﬁtﬁa{fﬂ% N 51 9 B

C. HPRS] P! G R WUHS Wiyl U6 Aead] 976 3| A8 € g & |
D, T e 0171e g i R e g @ g 3|
E. 5 JOR® @I 701 & T-T1 JoR® 34w IR fvons 71 fpm o of aren e &)

R e R TR

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 7155054129 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mg(NO;), XH->0 and Ba(NO; ), YH,O, represent formula of the crystalline forms

of nitrate salts, Sum ot X and Y 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 7155054129 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mg(NO,), XH,0 R Ba(NO,), YH,0 ATgcc aqull & fshPdidd o4 & G Bl
F2fUd XA 81 X 3R Y B TF] tl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 7155054130 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of compounds from the following which will not produce orange red
precipitate with Benedict solution 1s

Glucose, maltose, sucrose. ribose, 2-deoxyribose, amylose, lactose

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 89 Question Id : 7155054130 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hafafad O 9 gifiiel &1 |01 § i d-fsee faqaa 9 gl did sfdad gl
qd g

TP, Ao 19, YebId, Va1, 2-SI3{FRIEay, THIN, taeis

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14

Question Number : 90 Question Id : 7155054131 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of possible 1someric products formed when 3-chloro-1-butene reacts
with HCI through carbocation formation is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 7155054131 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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